
Joseph Stalin 
Industrial policies

By:Cleo Steward



Stalin's 5 Year Plan

• Stalins plan to increase the Soviet Unions 
economy was known as the 5 year plan. 

• It set high numerical goals to increase the 
output of steel, coal, oil, and electricity . 

• This plan had many advantages and 
disadvantages.



Disadvantages
• Disadvantages of Stalin's plan was that due to 

rapid production of industrial goods there was 
shortages in consumer products which lead 
to food, housing, and clothing shortages.



Advantages

• Advantages of Stalin's plan was that there 
was an increase in the Soviet Unions 
economy


